FBEIE - BEBIEETER [REPFENHI]

15 & ) R 2 e R a iR =
B FEHEIEFTE EERNFHE
(F &) (% %)
AR R6. 11. 1 ||Ri4ERIH ] AiHEE R6. 11. 1 ||Ri4ERIA | AiIHEE R6.11.1 || Ai4ER A kb
R5.11. 1 RATE R5.11. 1 HRAE R5.11. 1 HAE
2 7E ]
2 B 88 89 1.1 60 B7l A 5.0 8 10 25.0
WX 191 191 0.0 48 47 A 2.1 0 0 0.0
SR 39 39 0.0 11 10 A 9.1 10 10 0.0
A 159 1511 A 5.0 103 102 A 1.0 5 5 0.0
=) 31 31 0.0 14 17 21.4 4 4 0.0
811 17 19 11.8 6 7 16. 7 2 3 50. 0
iR 81 85 4.9 10 11 10.0 2 2 0.0
TARKR 17 16| A 5.9 7 6l A 14.3 0 0 0.0
#t 623 621 A 0.3 259 2571 A 0.8 31 34 9.7
(Bf641 1 H 1 HEE)
O % f# & Ik & F 2 pr &t 614
O FEHik—S< v BE G FEME 7
O W 2 # it = % 71 3 291 - AEHBERR N FE 257
- MERMIRSERR I F 17
o REE G N FE R 17
- BRI DN 0




50 | FBEEBERY (mrEmangfror i

200

150
100
0 . - -_

D

H {n] }II W 1:2}

ﬁfﬂ%ﬁﬁb

5 %—5

=
1>

120 Hﬁ%%ﬁﬁ$%ﬁﬁ§& {i;‘fﬁﬁ(xémﬂ”] HF641 14 1 HBUE

5
OEN B ERNBERMN
100 R L
D HBERNBER
80
60 10
0
40
20 ‘ \

2} /E‘

N

Yl

=
l

it iy )

=

oy T
1

(@]
w3 [JE

M

=

>
=t
>




